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Section A
Q1. Tick the correct option: (6)
(i) 125- =0
(@0 (b) 1 (c) 124 (d) 125
(if) 1 kilometer = meter
(@0 (b) 1000 (c) 100 (d) 10
(iii) Which of the following shows a quarter?
@ > Ok ©); OF
(iv) The distance between two feet in a step is called
(a) cubit (b) handspan (c) pace (d) none of these
(v) 2B, 4C, 6D,
(@) 7E (b) 8F (c) 8E (d) none of these
(vi) The standard unit of length is
(a) meter (b) handspan (c) cubit (d) pace
Q2. True/ False : (6)

(a) 558 — 4 =554

(b) In fraction ;, numerator is 4

(c) 369 — 100 = 359

(d) % means 3 parts out of 5 equal parts.

(e) Length tells us how old an object is.
(f) We measure the length of a tiffin box in meters.

Q3. Fill in the blanks: (6)
(@) 430-0=

(b) halves make a whole.
(c) 1 meter = centimeter
(d) In fraction ; denominator is

(€) 725 1=
(f) 239 — 6=



Class 11

Q4. Dodging tables: 3)
(@ 8x6=__ (b) 5x9=__ (c) 6x5=__
(d) 4x4=__ (e) 9x3 = (Hh 3x6=__

Section B

Q5. Putsign>,< or = (2)
(a) 8x4 46 —10 (b) 73-1 9x8

Q6. Write number name: 3)
(a) 814 -

(b) 770 -
(c) 443 -
Q7. Continue the following patterns: (3)

(a) A+B, B+C, C+D, ,

(b) 382, 381, 380, 379, ,

o111 ,

Q8. Shade the portion to represent the given fraction: (2)
3 2
@ @ : ® s
Q9. Write the fraction for shaded portion: /\ (2)
Section C
Q10. Find the difference: (3)
@ H T O (b)

H T O
8 6 2 7 0 8
-3 2 8 -3 6 4
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Q11. Write the length of following objects: (3)
.
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Q12. Which unit of length you will use to measure the following? (cm / m/ km) (3)
(a) Length of a duster
(b) Distance between Jaipur and Delhi
(c) Height of a pole
Q13. Find the missing digits: 3)
@ H T O (o) H T O
5 8 6 7 3
_ |:| 3 _ 4 3
4 1 3 2

Q14. Word Problems: (5)

(a) A balloon seller has 467 balloons. Out of them 243 burst. How many balloons are left
with him?
Sol:

(b) There are 936 students in a school. Out of them 508 are boys. How many girls are there
in the school ?

Sol:
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Section A
Q1. Tick the correct option:
(i) 125- =0
(@0 (b) 1 (c) 124
(if) 1 kilometer = meter
(@0 v (b) 1000 (c) 100
(iii) Which of the following shows a quarter?
@ > v ()5 ©);
(iv) The distance between two feet in a step is called
(a) cubit (b) handspan v (c) pace
(v) 2B, 4C, 6D,
(@) 7E (b) 8F v (c) 8E
(vi) The standard unit of length is
v (a) meter (b) handspan (c) cubit

Q2. True / False :
(@) 558 —4 =554

(b) In fraction ;, numerator is 4
(c) 369 —100 = 359
(d) % means 3 parts out of 5 equal parts.

(e) Length tells us how old an object is.

(f) We measure the length of a tiffin box in meters.
Q3. Fill in the blanks:

(a) 430 -0 =430

(b) Two halves make a whole.

(c) 1 meter = 100 centimeter

(d) In fraction ; , denominator is 7

(e) 725-1=724

(f) 239 —6=233
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(6)
v (d) 125

(d) 10
1
(d) 5
(d) none of these

(d) none of these

(d) pace
(6)

(6)
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Q4. Dodging tables: 3)
(a) 8x6=48 (b) 5x9=45 (c) 6x5=30
(d) 4x4=16 (e) 9x3 =27 (f) 3x6=18
Section B
Q5. Putsign >, < or = (2)
(@ 8x4 | <« | 46 —10 (b) 73-1| - | 9x8
Q6. Write number name: 3)

(a) 814 — Eight hundred fourteen

(b) 770 — Seven hundred seventy

(c) 443 — Four hundred forty three

Q7. Continue the following patterns: (3)

(a) A+B, B+C, C+D, D+E , E+F

(b) 382, 381, 380, 379, 378, 379

©— 11— M T

Q8. Shade the portion to represent the given fraction: (2)
3 2
eeR I | mE
Q9. Write the fraction for shaded portion: (2)
2 1
6 4
Section C
Q10. Find the difference: (3)
@ H T O b)) H T O
8 6 2 7 0 8
-3 2 8 -3 6 4
5 3 4 3 4 4
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Q11. Write the length of following objects: (3)

e A
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Q12. Which unit of length you will use to measure the following? (cm / m/ km) (3)
(@) Length of a duster cm
(b) Distance between Jaipur and Delhi km
(c) Height of a pole m
Q13. Find the missing digits: (3)
@ H T O (b)) H T O
5 8 6 7 6| 3
-[1] * [5 - [a] 4 3
4 [g] 1 3 2 o
Q14. Word Problems: (5)
(@) A balloon seller has 467 balloons. Out of them 243 burst. How many balloons are left
with him?
Sol: Total number of balloons = 4 6 7
Number of balloons burst = - 2 4 3
Number of balloonsleft = 2 2 4

(b) There are 936 students in a school. Out of them 508 are boys. How many girls are there
in the school ?

Sol: Total number of students = 9 3 6
Number of boys = -5 0 8

Number of girls
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